You didn't change the chain for photo number 10.
Please only use the last updated retouch version
of the chain necklace in the picture.




Diamond is ok but the position of pendant
(diamond) does not look properly. It is a little bit
crooked. | tried to show it with a red line. Two litte
circles must position symmetrical and also the
pendant. Left and right arm of the chain have
different angels. They should be shown equal and
same.

Second pic is ok. Thanks




Pendant is ok but we see dark areas on the small
circles on the chain. Please fix it. And chain’s colour
must be the same as the pendant colour.

Same comments valid for this photo too.
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